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Answer each question and show work for the questions that require justification of your answer.
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A line has no slope if it is:

Parallel to the x-axis (b) Parallel to the y-axis (c)  45° with the x-axis (d)
Which of the following is an equation of a line whose slope is 0?

y=6 (b) x=6 (c) y=2x (d)
Write the equation of a line parallel to the x-axis and 4 units below the x-axis.

Write the equation of the line parallel to the y-axis and 7 units to the left of the y-axis.
Write the equation of the line which is parallel to the y-axis and 1 unit to the right of it.
Write the equation of a line which is parallel to the x-axis and 7 units above it.

Write an equation of a line parallel to the x-axis and passing through the point (4, 6).

Write an equation of a line perpendicular to the x-axis and 5 units to the right of the y-axis.

Which is an equation of a line whose slope is 0?

x=7 (b) y=7 (c) 7x=y (d)
Which pair of points will determine a line parallel to the x-axis?

(2,3)and (2,-5) (b) (5,4)and (-1, 4) () (2,2)and(-1,-1) (d)

What is the slope and y-intercept of the graph of the equation 3y + 2x = 9?

The equation of a line is 3x + 8y — 16 = 0. What is the slope and y-intercept?

Which line has a slope of— % ?
y=§x+2 (b) 3y+x=9 () y=3x+1 (d)

Which is the equation of a line with a slope of 1 and a y-intercept of 2?

y+x=2 (b) y—-x=2 (c) y—-x+2=0 (d)

45° with the y-axis

x+y=1

X+y=7

(3,4)and (6, 2)

m =

3y=x+6

y+x—2=0
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What is the slope of a line parallel to the line whose equationisy = 5x + 4?

(b) 5 (c) 2 d) 4

o

Which is the slope of the line whose equation is 4x + 3y = 9?

_3 (b) +3 (c) _2 (d) %
4 3 3
What is the slope of a line whose equation is 7x — 5y = 10?
Write iny = mx + b form, the line whose equation is 7x — 4y = 8.
What is the equation of a line that is parallel to the line whose equation isy = 4x + 9?
y:-%x+5 (b) y=—4X+5 (C) y=%x—3 (d) y=4x-3
What is the equation of a line perpendicular to the line whose equation is y = 6x + 3?
y=—%x+2 (b) y=%x+4 () y=6x+8 (d) y—-6x+9

What is the slope of a line parallel to the line whose equationisy = ; x—17?

Write the equation of the line parallel to the line whose equationisy = é X+ 7 and that has a y-
intercept of 4.

Is the graph of the line passing through the points (7, 8) and (3, 6) parallel, perpendicular or
neither to the line passing through the points (1, 5) and (2, 3)?

Write the equation of the line that is perpendicular to y = x and passes through the origin.

Write the equation of a line that is parallel to y = 0.5x + 6 and has the same y-intercept as
y=-9x-7.

Write the equation of the line that is perpendicular to 7x + 5y = 35 and has a y-intercept of -1.
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